
Time: 10 Minutes Paper G. Science 6th Total Marks: 10

4th Month, 2nd Week, 3rd Day Syllabus: Unit # 7:  Components of solution to

solvent+ Inquiry 7.2

Q.No.1 Encircle the correct answer from the following choices. (1×6=6)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

1. The percentage of carbon dioxide in air is: ‚‚‚‚ìììì:::: _____ ƒƒƒƒZZZZ~~~~»»»»gggg0000eeeeZZZZððððWWWW‚‚‚‚àààà

(a) 21% (b) 0.03% (c) 0.07% (d) 78%

2. Which of the following is a solvent? ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ßßßß••••MMMMìììì????

(a) Sugar Ø¤/ (b) Carbon disulphide »g0eZðÏà

(c) Mercury %™~ (d) Alcohol ZÈi

3. The number of components of binary solution is: !!!!****IIII~~~~ÎÎÎÎCCCC××××ÆÆÆÆZZZZbbbbZZZZÅÅÅÅ®®®®ZZZZŠŠŠŠìììì::::

(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ

4. The percentage of nitrogen in air is: ‚‚‚‚ììììXXXX ________ ƒƒƒƒZZZZ~~~~********>>>>zzzzXXXX

(a) 0.07% (b) 0.03% (c) 21% (d) 78%

5. The sugar is a: ØØØØ¤¤¤¤////ìììì::::

(a) Solute ÎC^ (b) Solvent ‚ß•M

(c) Solution ÎC× (d) Concentration
´4k2.ç

EEHc

6. How much is percentage of oxygen in air? ƒƒƒƒZZZZ~~~~WWWWxxxxÄÄÄÄ‚‚‚‚ìììì????

(a) 21% (b) 31% (c) 41% (d) 51%

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  Define solvent. Give examples. ‚ß•MÅ°p™,XVBŠ,X

(ii) What are binary solutions? give example. !*I~ÎCc.çIEEH÷?VwŠ,X

__________________________________________________________________
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